1 KirchhofPs Second law is based on law of conservation

(A) Momentum (B) Energy
(€) Charge (D) Mass
ferars &1 facfa Pran g Praw & g o smenfa & 7
(A) #am \UB) A

(C) @maw (D) #egaH

2 The resistance of a straight conductor does not depend u

(A) Shape of cross-section (B) Temperature
(C) Material (D) Length
TH WY A w1 ufriy e fd @ w7
o (A) 39 F12 % s {(B) amwm
*(©) w (D) v

The method of heating used in an electric room heater. is
{H":‘,l Rffﬁjslﬂntc heating (B) Induction he
(C) Dielectric heating (D) Arc heating
qmﬂgawﬁaﬁ'amaﬁ’lm-mfaﬁ:m#ﬂﬁ% ?
(A) wfeta s «B) "o angm

: [
(C) wrga armd - (D) wrdh o=
4 Dielectric material isa” " m
(A) Good conductor
(C) Resistor

(B) Insulator
(D) Capacitor

=)
o—
TS YA w ¥ o 1
(C) wferdeh - o by RIRED
w O g
5 Power is defined as - ~ N
9]
Work Q
‘a‘“ﬁ] Power = Tiiwe '= q' “:” Power =
(C) Power = Work B o
Distance e \ g (D) Power =
afe & ofrwfeg s % - - -
& Er, <
m*l- dade LR o (B) wifwm =
oF]
. = & (=70
(C) 91 = - o (D) sif =
v
w
63 (1920) ] & O 5
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Weston Cadmium cell is a :
(A) Primary cell
(C) Secondary cell

(B) Rechargeable cell
(D) Dry cell

A uftm d@w b _
(A) wmuafts g5 (B) framies &
AC) fadrum & (D) o= &«
7 When is Wheatstone bridge circuit balanced
(A) When vollage applied is minimum. _ o
(B) When current flows through the opposite ends of the bridge circull.
(C) When no current flows through the galvanometer. a
(D) When impedance is minimum. T o
SR o & uftey wa wgfem B 2 7 “ O
(A) & wgae fava Freem 81 ) .- oy
(B) e fam % Taufa oftgu § ara wafea 70 & WQ
NQ) T e @ W arn wafea A o B -‘-'Jv
(D) o= uftrren Frewm el g S
W ™
8  Current /" through 20 Q resistance will be - o (-
20 Q Wit § g T & 9= e k O ]
R 55 + 1'41., 241 g0 3 o“zp &
! . .Eu_@ = =22
1- '.7.:" 3
Ze &o
1A Q) f 10 0 20 O N -+ @ S
P < h{;;_.--‘ I _‘_.J.{_é
8l W‘Juc 3 28
Ll
| @ ' 20
(A) 204 ?—? (B) IA_‘ z ' :,'. v 2
(C) 0.67 4 P ":f’J (D) 0334 =z
9 Which ol the following has negative temperature coctlicient of resistance
(A) Tungsten (BY Carbon
(C) Nirhrn"“; {l}:l Platinum
ﬁnﬁ'ﬁfamwufﬂﬂu%ﬁmmmwt ?
(A) ZmeEd B) 35‘*'
(C) @ (D) @fem
3 |

63 (1920)| @
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; c ; cach
I'he three resistances each of value 3 €2 arc conneeted in delia Thew villug

branch of equivalent star connection will be -

(A) 9a (B) 60

) 30 (D) 14

3 'ﬂ“ﬂrimm:mam#mt | wgea e v O gedw wre S e

] = s

(A) 9 am - (B) 6 s Q

: o 2 vITE

(€) 3 sim (D), | i ~
- i | 0

'ﬂuhml! of the following lamp gives monochromatic light \

':’." z’fl'd‘“m vapor lamp (B) Tube light

(L) GLS lamp (13) Mercury vapor lnmp

hﬂﬂ"ﬂmwmﬂ‘qqmvﬁnmﬂ&mt? Q'Q

(A) wifeas amg dy (B) zyaesnte >

(€), Mom.mw. (D) arn am & P Y

Sodium lamps are used for - v b

(A) Reading rooms (B) Street light o O

(C)  Auditorium (D) Librories L QO

mifEam A9 & wam ey & ™

(A) arEaa ¥ fao HY), Tl & form S

(C) sniEzifrae & fao (D) qemwmiea & fam & Ny

I'he colour of light depends on : o D

(A) Wavelength Q
(B) Frequency
(C) Wavelength and frequency <
(D) Wavelength, frequency speed and intensity %
ga1n & ™ iy T b 94
&
(=]
<

(A) armeed v

(B) smgia 9T
(C) w3 amgfa a1

) aonid, amgfa 3 drEar wt *

Which of the following is the correct sequence of stages ol dita ProCessing i a
compulter | |
(A) Data collection - Input raw data - Processing ol du_lu - Owutput
(B) Data collection - Input information - Processing ol data - Oulput
(C) Data collection - Data processing - Information data - Outpul
j ' ssing - collection = Outpul
(D) Data input - Data processing - Data collection put
faet 4 a1 ®egeT § =7 qrfem & Al oo o b 7
(A) SIZ1 HUFW - §AY2 e St - S @) gnafin o ey
(B) w21 #WEW - FE I - 31z1 W waftm s
(C) w2 dagm - =2 Wi - € A gEn o Wy
y — ErET WERET - 3T HUEM - ST
(L) , =72

\
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20 Eight Bits make up a :

(A) byte (B) megabyte
(C) kilobyte (D) gigabyte
e 4z g9 &
YA TF a1 (B) % FMaAR o

(C) & feemame (D) uw frrenge

21 What is modem connected 1o ? n
(A) Motherboard (B) Processor m
(C)  Printer (D) Phone line m
q1E f5es et v & 7
(A) wzTamt (B) wmEt
+Q), iz (D) ®r @A

22 RAM m Computer is made up
(A)  Semiconductor (B)
(C) Insulator

material.
Conductor
(D) Metal

HE 8 RAM TETY w A B 2o
~A), swdams (B) arems
(C) s (D) urg

@J‘Uhich among following is novaf nput device ?

(A) Scanner
(C) Keyboard

ﬁqﬁﬁﬁa-mwmqﬁ% ?

(B) Printer
(D) Mouse

For What
Join- 9001040962

(A) @ By iz
(C) #rar LY D) =¥y

24 The core of armature of’ a DC generator is |

(A) Reduce the weight of generator
(B) Insulate the core
(C) Reduce eddy current losses
(D) Reduce Hysteresis losses
ﬁ.@.ﬂﬁiﬁaﬁmmﬁmﬁmﬁ -
(A) 3 &1 urt &y 503 & e
(B) &1 % Faws a9 % fow
QL H9T " R # ey w5 % v
(D) feefifom oft # o9 w3 & fom

aminated (o

age

Mess

63 (1920)] ¢
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N@m factor defined as -

'
=

average load

_ Maximum load G (-
(A) LF = connected load (BY LR connected load —
i __average load . connected load
(Ep L= maximum load (D) LF = aximum loag fele
e ToiE Pt fagy W % Ny
e #ie
(A) LF. = —m —_ (B) L.F = S L 3 v O
Ham W Haw e o o
. shwa @ HaZ #ie 4+
( L.F. = ' =
Q\J -—_—ﬁ (D) L.F. e -: =)
s o A2
30 For smaller machines the yoke of a d.c. machine is made up of :g =
(A) L‘ast iron (B) Mild steel Lo
(C) Cuslt steel (D) Rolled sieel = -
mﬁqaﬁﬁﬁqﬁqmqahmMngmt: o o
HA) IR ST (B) @mwa & & k.,
(C) == &m & (D) = & @ o
b
31 The commutator scgments ar€)insulated from each other by : S0
(A) Bakelite (B) Mica 44}
[(..']‘. I‘V(_j (D) Hard rubber 7
mwmﬁuwﬁ%@ﬁﬁamm%: 7
(A) aHemge zra SXU3)) =rgE zTO @
(C) drErd. zm (D) #¢ @7 g z

32 In Lap winding of a DC generator, the number Of parallel paths is always -

(A) Double the number of poles
(C) Half the number of poles

(B) Same 4s.the number of poles
(D) Two

qmﬁ,ﬁf.aﬁaaﬁﬁnmff.mmmmﬁﬁmﬁmﬁﬁ% -

(A) gat & gem &1 g
(C) g & 5em & amb

TR, 9 B Fem & W
(D)

33 A capacitor start. capacitor run single phase induction motor is basically a -

(A) AC series motor

(C) 2-phase induction motor

(B) DC series motor
(D) 3-phase induction motor

mﬁmm%&mnﬁwmmﬂnﬁmﬁ%—

(A TE. A Hrzy
(C) 2-@wl 9o wHrzy

63 (1920)| 4

(B) @ 9ol gy
(D) 3-wsn wOo dyey
8
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ow ok = 3 ¥ 1
\@H Cross magnetising reaction of armature reaction in DC generator is neutralized ?

(A)

. Introducing compensating winding

: Ha_ving interpole between main poles
() Shifting brush position from GNA 10 MNA
(D) Increasing ampere-tum in ficld winding

L. A ¥ ey fromer an - drieni o &8 Froe e w E

(B) 968 Y3 & 4 sevdm swwe som

> GNA & MNA g & fafy wirrafa &1 1]
(D) &% et § ufar-2d agm@n w
L]
26  When the speed of DC motor is increased then - ©
(A) Back EMF increases and current decreases ~
(B) Back EMEAdecreases and current increases g
(C) Back EMF and current both increases
(D) Back EMF and current both decreases —
T A, e B A A k- O
HAY & EMF Toa & i ure, gz & &
(B) @& EMF weal & aur o dedl & «§)
(C) &% EMF aur arq 241 god & A ST S0
(D) & EMF @ ara g wed ¥ - w
w
27 The starter used with a constant speed motor 15 a - “
(A) 2-point starter (B) 3<poind starter .t
(C) 4-point starter (D) 5-pomntStarter :
fiery &l |2 & @19 =T 394 B
A) 2-4rEZ '’ (B) 3-arz wrd :
\:i:\/-i-‘fﬂﬁ'é w1 (D) 5-@rz 't s
28 In DC generators Lap winding is used for -
(A) High voltage. high current (B) Low voltage, high current
(C) High voltage, low current (D) Low voltage. low current

A&, wf 4 @9 asfEn & wEm e d -

(A) w=a R, s gra & fom TR)_fre fava, 3@ am & fa
(C) wea fawa, fe aro & fo (D) = fawe, fs wro & T

63 (1920)] @ 1
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34  Which test on a transformer - 2 : :
; provides information about i ency o
heating under load condition ? regulation. effici

M:) Open circuit test (B) Back to Back test
(C) Hopkinson's test (D) Short circuit test
@ ZEEHT A B e e P, ze am A @ e b
(A) g gftay w4 B) ¥ 7 ¥= ww -
(C) wfFaa wia (D) g uftea w@ig a? v
~ ©
35 The material used for making a transformer core is : ¥ O
(A) Cast iron (B) High carbon steel g O
(C) High silicon steel (D) Mild steel > W
ZEET & B T A, vk wE b S
(A) ® ST B) e ad @w & Y
(Y _y= Wfeam &a (D) @ma @ 45 §
36 An autotranstormer has only winding. d =
(A) one (B) two % ’
(C) three (D) four v . <
AEZTEET & mfen AR R )
Ny = (B) & O N
(C) & (D) = *

37 Which of the following is nof she_function of a transformer oil 7
(A) Cooling the primary coils (B) Cooling the secondary coils
(C) Providing additional insulatiol ¢~ [D) Providing inductive coupling
Prer & @ @@ G & a9 & AeDE 7
(A) wafs Fsaa & diide (BY Tadrus gsaa & sitders
(C) wfaftam Fawdd W& & [m\’ﬁ‘rﬂrwmm

38 lron loss in transformer occurs in -

(A) Core (B) Winding
(C) Insulating oil (D) Main tank
afonfir & we sy ot e & -
(AT ® (B) #=e &
(C) Faes aa § (D) Y& 3% o
39 ) In a cable the voltage stress 1S maximum at :
(A) Insulator (B) Sheath
(C) Surface of the conductor (D) Core of the conductor
Faw | diezal ad APEHTH Bl &
Ay FEEE W (B) @ gt
(C) do® & §aE T (D) aT® %1 &I T
63 (1920)] @ 9 [
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¥

;{ @ The surge impedance of a transmission line is defined as :
(A) Y (B) JLC

(€) JL+C ~Npf VoL
Zaie™ 75T & gfy afrann w1 ofoafes &3 §

(A) \(Q W) Vic

tsapp
962

(C) JL+cC (D) JC-1 =

41 The size of the conductor for cables depends upon - W — ?
(A) Insulation (B) Current }ghh“
(C) Voliage (D) Power
Uh AW & AGE B AT i wren v
(A) PR ¥T (B) =rm v - c
(C) Java ut (D) vt nO- -

42 Breaking capacity 0l _eircuit breaker | FeN i oi

) er s usunlly expressed in@grms of-

(A) Amperes (B) Volis m ’
(C) MW (D) MVA =
mhﬁmﬁfaﬂlﬁmﬁmﬂmmﬁhﬁmmtg oy
(A) vfiggy 8 (B) fawa u -
(C) wmrarz 9 % U AL Q p—

43 Numerical value for voltage regulation of trfinsmission lina,;;uld be :
{A) High (B) Very high
(C) Low (D) Medium
HYN AEA & A Frgwa & onfes e e afen
(A) 5=3 (B) Tga 3=
Q) (D) Wy

The efficiency of a thermal power plant improves with :
(A) Lower load in plant (B) Use of high steam pressure
(C) Increased quantity ol coal burnt (D) Larger quantity of water used
A ST Wiz @) a9ar & g6 A Ghd &

AV Tz @ oA FH FH (B) @& v @ &1 39gm &1
(C) ®raem wg@r qEn § AAHT (D) o) & =arE g 4 3ugm e
63 (1920)] @ 10
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45 The primary winding of a current transformer has

(A) A large numbers of turns (B) No wms
(C)  Intermediate numbers of turns (D) A few turns
UH H1Z ZEEET & wahs FEe Lo i A
(A) wafas &0 & wen (B) #F &1 T8
(C) 9w gem & &Y \u\)bgm L 14

46  Which type of insulators are used for 132 kV transmission lines ?
(A) Pin type (B) Suspension insulators
(C) Shakle type (D) Pin and Shakle type
132 & A gaTw ansAl ¥ 6w ww @ gz wdm A da ¥ 7
(A) = umr =1 (By gur=e fageras
(C) 9%a g & (D) fa5 am rea w&T &

47 In a thermal power plant, heat from the flue gases is recovered in -

(A) Chimney (B) Superheater
(C) Economiser (D) Condenser
Um W9 ik e § Bl TEER) men & age s ¥ -
YAy faeh § (B) wifeams |
(C) z@wAMEAT o (D) &=HT

48 For a sinusoidal ac voltage ol peak valué JO0 V, the rms value is -
fel FrEwa ac deedl & 9% (frat) aeean 100,V 2, i qna qa 5= R -
(A) 200V (B) ISV

<
(C) 30V D) 707 o
\

49 Which of the following is a low pass lilter ? QQ
(A) L-type with series C and shunt L >
(B) T-type with series C and shunt L
(C) T-type with series L and shunt L > Q
(D) L-type with series L and shunt C & ™
frsr & § @-w Fre-am ket 8 7 Q D
(A) L-zdy, 4ot Cawed | & wa L QO
(B) T-zvéu, avhy C @ wigd |. % 6w . O}Q
(C) T-zéu, 9 L 3 o1gd | & @y ‘.:0
{m\l_;zr#l.ehﬁl.amd{.iimu"c,

<
63 (1920)] @ S
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50 In which types of instruments, air friction damping is used °

(A) Moving iron

(C) Induction

e wat & summ o g
TTALEE W

(C) wm §

51 Unit for clectric field strength s -

(A) Volt / meter
(C) Weber

mslﬁaﬁmﬁt
(A | ez

(C) =7

52 The PMMC métertan measure -
(A) Only AC gudntitics
(B) Only DC quantities
(C) Both AC and DC{guantities

(D) Only very high frequesicy quantities

PMMC =7 ug wad ¢
T8 &aw vl i

—B) ) Fa=m @& ofirgi
(C) . am a8 2+ ofsmi

(D) Faw srwafs smgfa aeh ufyrai

o s & v g b

|
(B) Moving coil
(D) Hot wire

(B) @ el o

(D) @@ art & Q

(B) Farad/meter

(D) Hertz > O

4
©“
&
<

53  The intemnal resistance of the ammeter should idéally be -

(A) Very large
(C) Infinite

et & eyl arafE whroy B

(A) Tga ==
(C) 94

54  Meggar is used for -
(A) Testing EMF
(C) Testing insulation resistance
T @ v F wg -
(A) fga ams @@ 2 @i §

Q) _Fowa & gfrtr & g ¥

63 (1920)] @

(B) Zero
(D) Very small

), =
(D) =Ed =w

(B) Testing temperature
(D) Bridge balancing

(B) @M & w9 o
(D) Bt & deerm o

12 [PTO.
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C@ Argon gas is filled in filament lamp 1o -
(A) Reduce the glare of light
(B) Improve the efficiency
(C) Change the colour of light
(D) Retard the evaporation of tungsten filament
% TG WY F vl g w v ¥ -
(A) Y& % awrdty & &9 1 % fg

(B) 2&an &t 9w & fro '
(Q ¥t 31 1w ¥ f =
(R)_ 37 7 & amiwn &t 39 51 & o ";
56  Which lamp is best suited for lighting an international sports slm'n
(A) Filament lamp (B) Metal Halide lamps g3
(C) CFL (D) LED lamps o
BT W 0 WU Gn efeay ¥ fan waifes sfw b7 -
TtAY dx @9 (B) fea Remgs &g v
(C) ®us.um, (D) LED @ &9
3+
57 Ncon sign lamp is used [oF - N -
(A) Reading rooms (B) Houses
(C) Industries (D)  Advertisement 3
fram \EA e @& wam B -
(A) amaAwg & oo (W) =t § =
(C) i o HQ)\/ﬁfm‘r i =
e
58 In neon signs, helium is used for : @
(A) Orange colour (B) Green colour B0
(C) Red colour (D) Blue colour -
frar @ o, feferaw & g g @ v
(A) Arem 1 & form (B) &0 ™1 & v v
(C) o 11 % fao @ﬁmﬁtﬁq Q
59  What is the range of visible spectrum ? z
390 WaZH B T 1 E ¢
(A) 200 nm - 1000 nm (B) 300 nm - 760 nm
C) 380 nm - 740 nm (D) 480 nm - 1000 nm

63 (1920)] & 13

o

0

9001040962
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=
60 A bridge rectifier has o peak inverse voltage (1Y) o—
& Pewrit @ wiv forare dvem ) o
—
A Jv, By 2Py
] —
() ¥, (I & f=9 o~
N\, 2 4]
w O
[ 6l j In which region a Iransistor acts as an open switch ! - O
"???;. & (A) Invered region (1) Active reglon ® o
t'f:] Cut oll I‘Egim “}] Ssaturatd m'ﬂ,m : *
RN 0 1 A o @ fraw o o e won b i 35
(A) wfsemdy s (13) nfivy L
(C) 3% &= g W .
, (=] o
|f_‘-k " B : P | g b m
.82 ) If firing angle~is increased. then the average ouiput of an SCR (=]
(A) Remai hanged (V) Is imcreasad @
(C) Is decreas (Y Changes in polarity (=T4]
o sttt &®m w Mo SCR w1 shwa Pyda v 4]
(A) smfrafta vem /’ (") wdm w
‘QL Tz O (1) & gyl 4 wgomm g "::

63 A Silicon Controlled Recufier @hq& :

(A) Four layers and three junctio / 1) Three lavers and two junctions
(C) Five layers and four junctions Fwo lavers and one junction
1 Q

-5 & st faafaa fresarh (SCR) /-
(A)_ &7 "ae 7w A Has= (R) " d-ame am @ waem
(C) ui9 7a® am a7 wem= (D) :ﬁ%m UL P
f;:‘ |Ripple factor is define as
rm.s. of a.c component d ¢ component
(A) Ao (B) :
€. component CALs ol a e companeni
) pcak value of ac peak salue ol ag
(C) r.m.s. of a.c. component (D) does component
Fh®1 e airaiiva g b
. vl we % 9 sno v yce
ay/ ¥ (B)

gl oy s wl I Wy

voaH ws m fwr o=
”_f_,; vl wx w v ow 3w

-

£

63 (1920)] &
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65 /ener diode uses as

]oin-

(A) Recufier (B) Voliage divider

(C) Regulaior (D) Filer

AT TR ugEE v b

(A) Prezerit % =3 5 (B) Tawa fawis & &9 o
(C) Frass & =1 & (D) fwezt & ®9 ¥ .

66 The forward vollage drop across a diode is about -
U% TIOE ¥ ¥y faws wa & 99 v b
{A) 25V (B) 3V
(C) v (Dy 0.7V
Tl

| 67) A power factor meter has -

~ (A) Onc current coil and two potential cails
(B) One current cosl and onc potential coil
(C) Twofogdrent coils and one potential coil
(D) Two Cwrem conls and two potential coils
U% A TUE W B P -
(A) T% arm FEae g9, 7 favg g
(B) w=® am grﬁn a0 fava HEen |
(C) =1 arm g 701 v% fawa Faah
(D) = mmwwfﬁwm

9001040962

| 68 TMf a voltmeter is connected in serigé mith the load then -
~~—(A) The measurement reading wiij'_'_bg too high
(B) Almost no current will flow in the/Gfeuit
(C) The meter will burmn out
(D) High current will Mlow
afz @ faveanTh 21 W & 40 4 T @ RArAtE @ @
(A) s Tifsr smatas & P
(B)afrea & s g aro waisa £l 1@@:
(C) =99& A= FA0M
(D) werias aro wanfed o

ssage For Whatsap

£ ; _
C &j) Moving parts of measuring instruments arc supported in -

(A) Bush bearings (B) Ball bearings
(C) Roller bearings (D) Jewelled bearings
q9 I9ETVN § FEEEE 9 B wern famn e & -
(A) T91 9317 § ‘W aim dafin o
(C) T dafte 4 (D) e draft §
\\“J
63 (1920)] @ 15
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10 Single phase motors ane commercially manutactured wplo

(A) | HP B) 2 HP
(C) SIHFP (Dy e
e el el mrenius su & fafds e B

(A) LI s (B 2P aw

Wy Sk aw (D) 10 P o

o

(" ) A sipuirred cage induction motor is designed (o run SOz supply fm‘l‘lt‘llm Whig|
hiappens when it s connected o 60 Hz supply frequency

(AY Howill burn (B) 1twill not start

q [4]
() Run = al rated speed (1) Run w = ol rated speed

v Kl grm wize 1 S0 1, wrgfa areht amgfd & foro @nw ma R gEw 60 |],m

alt sl N4 &14 97 F&n ufza gm 7 I
(A) ue mm @ ty) wr @ A e oy
Qo vt 0 .
(C) Podfra am C\}n A () i w1 uh — W A :
- a,
2 ) Which ol the lullumng s hot cause hunting i synchronous motor ? g O
(A Vanable frequency & (B) Varable load : g
(C) Varable supply vollage (D) Windage Inction 3 g
et o i mfnmmumﬂrﬁm oy AE b =
(A) fradkasive sirgfe ufradayiia st 3 =]
(C) ufradasim ugm fave ( ;g ury [ ™
- L=
73 Shp oing induction motor has ) :
(A) Low starting torque (B) Mcdl ALing torque v
(C) Thgh starting torque (D) Zero torgflig :
il awa don qEr q nen b »
(A) oo uiifum am g (B) waw grifves ae sl :
o = ; . .
45__5 ver witfvm am g (D) s am amyl s

T4 "Crawling' in the induction motor is caused by
(A) High loads (B) Improper design ol machine

(C) Harmonic developed in the motor (D) 1 ow volage suppls

PEATRUIEA L I L E I I

() 9 N (1) sshg

(C) e o e secsy g (D) #9
~__J Fi

63 (1920) | @ 16
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75 In induction molor, greater the number of poles -
f-"*:l' :—“5“1‘ the speed (B) Greater the speed :
(C)  Lesser the frequency (D) Greater the frequency o
W AR H, S Hen A gm 6o ~
(R w2 (B) =@ awi
(C) wmgfa qeh (D) wrgfa aah qq
T_d In imlm:l_it?n gencrator operation. the slip is always - v N
{ﬁr} F'miil_ltl: (B) Negative @ O
(C) Infinite (D) Zero - (o)
U 9T WA F w A, fre den gl i i
(A) HITEH (B) =ommes ; :
(C) s D
<) @ S
77 If any two phases of an induction motor are interchanged - & v
(A) motor W!H run in reverse direction (=~
(B) motor will.omtinue 1o run in the sume direction “' Q‘
(C) motor will stap m
(D) motor will bum R
a&hﬁﬁmmﬁaﬁiﬁmmﬁuﬁuﬁamﬁm,m:%
(AY_FireT ava o § wh 3
(B) ®rzz 3 fagn & aqi @
(C) wetr =% A @
(D) w|rZT A7 Amam ;
78 In a transformer the resistance betweéaZlls primary and secondary windings is
(A) .’ii:l"u (B) Very small
(C) Inflinite (D} Cannor Bepredicted
s Ziewert § wafis a fadas seeh & 4 9 wierte wrm
(A) 4 (B) =mad &n
\{L“,L CEn | (D) sErm & 591 g%
79  Iron loss for transformer is 400 watts, What will be the copper loss when the transformer
is working on its maximum efTiciency ?
(A) 1600 Watls (B) 400 Waus
(C) 200 Walis (D) 100 Watts
um ZEEET 4 & wif 400 9 & | @ ZEERT S SeEee T T s & e ¢ e
aHs am gitAal @& e ¢
TN/ 1600 7 (B) 400 = G o
~2 (e
.
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¥
LN Wil ol the Tollowing condition s ’
Wi lormers
(A Percentage impedance should be the -.,nm-lf'.' :
) Palarities of both secondaries should s gy
) Mollage ratings should be the same Q
) Kva futings should be the same M & e snEEae '

Wt @ 0w a9 ufrenferst & srrRr S ®
Ay ufvur ufnn wgea evdl afin

()01 Tadva ) yam avgea o6 afie

(L) Tavia @) ey wmgea o) ‘ﬂft“\

(N % & Yen gagen o afee L 4

(W0 ) The phase shitt in 4 star-star connected 3-phase transfomier s
MW g 3% qftenfia 8 e Ty el B

“l”‘ (i Vs
(C) 6o (D) 1200,

B e primary andadpadon voltages are | 4
(AL RO onn ol plasé ah o trans former - T
(W) always in phase i utnsformer — A

() 9 o ol phose indmnslommer

() W0 o 60" o of phase_iffa translommer
Wl a fedvae atesm b ¢

(A AT & RO W w1 ¢

() eremmiy o mden o A wen o

() ZTHWWMT o 90" ®aTT g

(1) gEwMs 4 00 s 600 sAET T

BY  Whioh chemical is used in breather (or transfobider)?

(A} Siliva Sand (1) Sihca Gel

() Ashesios lihre (1)) Sodium ghldede
LhEnie o @A @ vga A & w9 Tuge B b7

(A) Infoan i By i A

() wramaig dqe (D) wifsaw FINage

rallel operation of g

Message For Whatsa

——
Q.
Q.

9001040962

[ M) K s the resistance of secondary winding of the transformer and A s ranstormation
ko, The cquivalent secondary resistance as relerred 1o pomany side will be -

o et g dvas gews @ afaom B8 an s ofta
w1 uralies o o qeusTh afitg wm

IA) AH (1) hlﬁ'l r\‘_‘

R R,/
i) J 7
A (N /h'

"

63 (102 ) @
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85 Which device is used for protect i wult
@ g 49N A g & ﬁq"“:g::l;;l :I'l;lh fault ?

(A} MCB : f
(C) MCCR \:-l['.l;l; Ii:.:. s
= (A) Cleat wirng is recommended only for wemporary installations
(C) Metal B C18 '
' o SR (D) PVC Conduil
Ay STl geemeE W foo @ ¥ :
c ) CTs s
el (D) PVC mqz o
87 What is the full form of MCCB
(A) Metal Case Circuit Breaker (B) Molded Case Circuit I!.n::.ui-ul:rh

(C) Mimature Case Circuit Breaker (D) Mohile Case Ciucuill Breaker

MCCB® g o & & 7 Q
(A) #Z8 &% wibz awt TR, tiete 0 witz da1
(C) Tt Fa ez awt (D) st Fa aftie awr Q

88 Swvmbol of Tuse 18-

S F HHaAs b - MN
(w)}
T o

(A) (H) @
\{Q_{ (1) I
89 For high frequencies. capacitor acls a8 g

(A) Open circuit (By¢ Réectiticr
(C) Amplifier (D) “Shogt, circuit
e amgha Ut guifs @& & 2
Y gen aftem & & g (B) frestgdn
(C) wads® & dt 91 (D) wy afrdus i g

90 ) The energy of a charged capacitor resides n m
: (A) The electric field only
(B) I'he magnetic field only 0
(C) Both the electric and magnetic field
(D) Neither in electric nor magnelic held m
m% aafe Geifer § A e # —
(Ay._fhaw fagqa & o
(B) ®as qE&Hd @ o (5]
~y P & gEeE A3 7 o e
L

| P

-~ ¢
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91 Voltage across capacitor C, will be -
gafra C, av form g -

| WF TUF i
I 1 O

Sea s = Cl 'XC,

IIIL 3
— 1!
300 ¥ o
(A) 100 V N 2000V 2 }r
(C) 150 V (D) 300V ‘0

92 A capacitor consists of :

(A) Two dieledtries (B) Two conductors
(C) Two insulators (D) Two semiconductors
oF "Hentes 5 g b (=)
(A) 2 gdea B, D wew :I.
(C) = gawm (D) = sd=ws
93 The unit for magnetic Nux density 45 ¢ -
(A) ohm/meter (B) +Tesla m
(C) Amp./meter ()~Farad/meter (141
(A) i By raw
(C) ey e (D) HreaieT “
()]
94 Hard magnetic materials are used - z
(A) in electric traction (B) for relavs

{C) in circuit breakers

& gEHY T # owan fw b -
(A) Faga dwdo § (B) frei & fam

(C) ufrgy Fogram (D) @ e 2o &

(D) for making permanent magnets

95 Which law is applicd 10 find the direction of force of conductor in DC motor ?
(A) Fleming’'s Right hand rule (B) Fleming's Left hand rule
(C) Faraday's law (D) Lenz's law
B8 P A ST § woaw aw R @ gea & & for W) e wwen ¥ 7
(A) Wi & zifes w1w & g AT & AT Ty Fyam
(C) % @1 Pram (D) &a @ P

63 (1920)] @ 20 [ PT.O.
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(f When phase sequence of supply at 3-phase balanced load is reversed -
- “(A) Phase powers are changed
(B) Phase currents are changed
(C) Phase currents change in angle but not in magnitude
(D) Total power consumed is changed
w4 % 3-FA WA 9T 9T WA B wen-aqEn B deed &, T
Ay doa sifdm afrafda & @ &
(B) @ema urn sftafda & o ¥
(C) =g arosi & & aftafds g & afpa ofremr 8
()T e @ oftafda & adh #

@ Which of the following does not define power factor ?

(A) It is the cosine of angle between voltage and current.
(B) It is the ratio of resistance to impedence.
(C) It is the ratio of active power Lo apparent pOWer.
(D) 1t is the sine of angle between voltage and current.
frer # @ S, afe e w sfonfta @ s g 7
(A) T% fvia @uv ar & Se E 6w w1 B L Ceg
(B) =& witrty a@ur afearn & SquE w2 &
(C) a wdaTh sifee. g, smardl aifd @& sgaE g ko
%ﬁfﬁ_ﬂﬁaﬁmm#maﬂwmwﬁmh

9001040962

98 A frequency of 900 Hz is called «
(A) Audio frequency
(C) High frequency
900 Hz smgfa weam &
(A) %= Imgia (B), = smgfa
(C) ¥ amgia (DY a0 3= Hgha

(B) Radio frequency
(D) Ultra high [requency

N
Message For Whatsapp Joi

An electric iron is rated as 230 V. 500 W, 50 Hz A€ 1 he vilue of 230 V refers
(A) RMS value (B) Averagt pValue

(C) Peak value (D) Peak 1o péak value
s faga g @ ifEm 230 V. 500 W. 50 Hz. ad & 3wl 230 V e & & -

“NQ), 7 A g A (B) shaa
(C) o A (D) sfd & o ==

99

100 The ratio of RMS value to average value of an alternating voltage i1s known a

(A) Form lactor (B) Peak value
(C) Average value (D) Q-factor
Frell wearadl v & @t Wy @ W awn ofEd ST @ S wee §

(A)F9 T (B) frd ==
(C) sired = (D) Q-ToTh
63 (1920)] @ 2| | A
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